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D'7021 In the third stage of law of variable
M.Com. (II"Y Semester) Examination, 2020

BUSINESS ECONOMICS

proportion the marginal production

Time Allowed : Three Hours becomes
WMaximum Marks : 70 (2) 3 @NT 9% BT A G ... @
- 3R S gl

SECTION - A
A ;5 @@ g @ IR foREel e T 6 e 3w
&l 1%10=10
Note : Attempt any ten questions. Each question carries

one mark.
Under perfect competition marginal

Q1. (3) Rp ==l & gfd DI :

revenue is always __ price.
Fill in the blanks :
0 e 5 P & A (4) 3ol gfcanfier & f@aR ... IR
o § ARG 3T . gl gl e e
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(3)

The concept of imperfect competition

was introduced by

(5) gPERR & IR IUR TH DI T

According to Schumpeter the first

phase of Business Cycle is

(§) @ fadea gie

D-7021

Choose the correct alternative :

(6) Y™ & Fgd Y uhkika & @ BN @
T BRUT @

(31 Yo ¥uRt & ER ¥ gfg

(§) srfayTsTan
) faferfea<or
() 3IRRH I

PITIOI
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(4)

The principal cause of application of law
of increasing return to scale is :

(a) Increase in plant size

(b) Indivisibility

(c) Specialization

(d) All of above

Redele sua & fom @ Rda

3EaRT W (Ued §U UKGA DI W) :

(31) 3a 3@ Td AW 3AE TEH
A §

(¥ 3ivd 3 dw & afte @ @

(W) 3 3cTe T 3TE & BH BT &

(@) 3IWR<D H F B el

http://www.sggvonline.com


http://www.sggvonline.com

D-7021

(8)

(3)

In second stage of law of variable
proportion (Law of decreasing return) :
(@) AP =MP

(b) AP > MP

(c) AP <MP

(d) None of above

THIeIpa iR & 3idvid BH &I Y
G S

(31 AR =AC

(@ AR — AC iftrmam g @

(¥ MR =MC

(@ AR =MR

The profit of the firm under monopolistic

competition is maximum where :

PITIOI
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(6)

(@) AR =AC

(b) AR — AC is maximum

(c) MR =MC

(d) AR = MR

of gkRIfT & 3idvd, e §, T
T

(&) FFFT @ 3 #Rar @

(¥ 3R a9 el a=dar &

(W) @ 98T Bl &

(@) IRH H F P A

Under perfect competition, in short run,
a firm may be :

(@) Earning only normal profit

(b) Earning abnormal profit
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(7)

(c) Incurring loss

(d) Any of these

(10) "®NR dH Th Yg Higd geam &17 T

T &

(31) U®

(@) &I

(|) o=

(@) 3IRI6 H F Pl Tl

"Trade cycle is a purely monetary
phenomenon." This statement belongs to :
(a) Hayek

(b) Hawtrey

(c) Keynes

(d) None of above

PITIOI
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(8)

(11) &= & 3 oF-31 ga1 Wi & b HROT

g:

(31) @ @ rfawn

(¥ =& =on § gfg

(|) Y= & Ihipd A

(@) g P gRI Tdba Med U
(CRR) @ ST ST

Which among the following is a cause

of inflation :

(a) Deficit financing

(b) Rise in external loans

(c) Unfavorable balance of payment

(d) A hike in the CRR by the central

bank
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(9) (10)

(12) e IRa wifd = & sRoT 3= & Note : Attempt any five questions. Each question carries
g two marks.
(1) "I @ A g Q. 2. T og WG T (25 ¥ 30 IR :

(¥ @9 & X A g

Very short answer type question (25-30 words) :

(@) (30 e (@ < (1) SR B el R ¥ T s 7

(@) I P W AT

What is meant by decreasing return to scale ?
Cost push inflation occurs because of :

(2) wifgp @rg @ 2 ?

(@) Increase in rate of wages

What is money cost ?
(b) Increase in rate of profit

(3) ®ma fawe & TRwva ol
(c) Both (a) and (b)

(d) Ineffective policies of the Govt. Define price discrimination.

S (4) TRIROT qea T & ?
SECTION - B What is transfer price ?
A dfg gl 6 W A TAS TH & o 2 (5) SEIINT BH TN & ?
3 &l 2x5=10 What is multiple firm ?
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(6) WMNR TH & FHTIMG NG & Fued
B 7 ?
Who is the founder of Psychological Theory
of Trade Circle ?
(7) q& Wit fed dead €
What is Money Inflation ?
gug - 9
SECTION - C
e ;&g dfg T & IR AR TS TH & 4 3F
&l 4x5=20
Note : Attempt any five questions. Each question carries
4 marks.
Q. 3. g TR Y (250 ) :

Short answer type question (250 words) :

D'7021 PITIOI

(1)

(2)

(3)

(4)

(5)

D-7021

(12)

IBIAH AN BAd Tl & P

What is short run cost function ?
uRad=eia sua & faw & @@ smeg & °
What is meant by law of variable proportion ?
S o AP & IR W SGTR BT auiebRoT
DT |

Classify the market on the basis of quantity
of sale.

g e fafr & gHeed

Explain the "Method of Cost Plus Pricing".
of wREfer g sel sREfE § sikR
ERIERY

Explain the difference between perfect

competition and imperfect competition.
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(6) T UBHMUGR Hed Wad WellcHd Fea & Sl (1) Y= & gfawa & fooRgRT & 30 F@1 FHed

e &2 $2 Y ¥ e gp R o e B ReR

Is monopoly price always higher than

yfaee @ eS|
competitive price ?

_ What do you understand by the concept of
(7) @UR d% § dofl & Rfd & e Hifor|

return to scale ? Explain increasing returns
Clarify the boom phase in trade cycle. P g

UE - T to scale and constant return to scale.

SECTION - D (2) gf vicaficr & s@eRoT We |
e ;B dF gl B IR QG TS 9T 10 b

FAE U AUdle H Ao Ha U o
gl 10x3=30
ST & ?
Note : Attempt any three questions. Each question

Explain the term "Perfect Competition". How
carries 10 marks.

. equilibrium is attained in both short and lon
Q. 4. Y T 92T (500 T= F D) - 9 9
Essay types question (more than 500 words) : period.
D'7021 PITIOI D-7021
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(3) 'BMUR I% Ueh fags s ge 81 Iwemsd|
"Trade cycles is a purely monetary
phenomenon.' Explain.

(4) AM-IRT woifd don aa-aRa wifd § 3wR
W DR T I8 d@ o Witd W T
3O JUIG ST &

Distinguish between demand-pull inflation
and cost-pull inflation. Do these factors exert

their pressure on inflation independently ?
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